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General Instructions to the Candidate :

1. This Question Paper consists of 9 objective and subjective types of

questions.

2. This question paper has been sealed by reverse jacket. You have to
cut on the right side to open the paper at the time of commencement
of the examination. Check whether all the pages of the question

paper are intact.

3. Follow the instructions given against both the objective and
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subjective types of questions.
4. Figures in the right hand margin indicate maximum marks.

5. The maximum time to answer the paper is given at the top of the
question paper. It includes 15 minutes for reading the question
paper.
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Note : Answer all the questions.

Four alternatives are given for each of the following questions /
incomplete statements. Select the most appropriate alternative and write

i)

it in the answer book along with its alphabet : 10x 1 =10
DIL package means
(A) dual-in-line (B) dipped-in-lane
(C)  dropped-in-line (D) diffused-in-lane.

iii)

Vi)

vii)

viii)

An integrated circuit is

(A) a complicated circuit

(B) an integrating device

(C) much costlier than a transistor
(D) fabricated on a tiny silicon chip.
Monolithic ICs are fabricated within a

(A) Mica (B) PVC

(C) Silicon (D)  Copper.

Number of terminals / pins used in Op-Amp are

A 2 B) 8

) 5 (D) 10.

Input impedance of Op-Amp is

(A) 1 Qto 100 Q (B) 100 Q to 200 Q
(C) 500 Q to 800 Q (D) 10 kQ to 100 MQ.
The base of binary number system is

A 2 B) S

(C) 10 (D) 16.

The OR gate has

(A) only one input (B) two or more inputs
(C)  only two inputs (D)  only two outputs.
Output of OR gate is zero (0) when its two inputs are
(A)  high B) low

(C) different (D) same.

The basic unit of flip-flop is

(A) feedback input (B) feedback output
(C) latch (D) triggered output.
The clock cycle is calculated by

(A) flip-flop (B)  rectifier

(C) transistor (D)  counter.
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2.

a)
b)

What is an integrated circuit ? 2
List the applications of ICs. 3
Draw a neat circuit diagram of Half wave rectifier and show its input
and output waveforms. S
List any two levels of integration. 2
Explain thin film IC. 3
Draw a neat circuit diagram of P-N junction under forward bias and
reverse bias. S}
Define To-5 IC package. 2
Distinguish between thick and thin film IC. 3
Which component of IC is most complicated while fabricating
integrated circuit ? Give reason. S
Define operational amplifier. 2
Explain pin configuration of Op-Amp. 3

Draw a neat symbol of Op-Amp and explain the function of each pin.

What is decimal number system ?
Explain binary number system.
Convert binary numbers (11001-011), and (110011), into decimal.

What is the output of OR gate when both inputs are 00 and 01 ?
Explain NOR gate IC.
Draw a neat symbol of NOT and NAND gate IC and write truth tables.

W N O W N U

How many inputs are there in SR and clocked SR flip-flops ?
Explain shift register.

Distinguish between RS and JK flip-flops.

What is counter ?

Explain synchronous counter.

a W N o W N U

Explain working of 2-bit asynchronous binary counter.
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